Si7%E4830H
ZAZERNEAIFER (No.1)

"5 A MDEERE
KEBEFEERDEMRULIMETEELAEENETEDHE
o> TULVELT,
BAEEMRUIMBTEELREENME TEHTL

AR22HIZERLI-ZAZENEAFERZHMoELET,
KEBIFEEEDEMEVIMBCEELREENETEHELS
TWW&xLT =,

BNt EERADSMRUVImMETCEELRIEEMNETEHEL
TWWELT=,

o0074)LEEEESLT1, SRU4A4TISMEIZGESIFESEY,
hEfFHETHEYM ISV I NS LMERELES>TULVELT,
BEEFR=EL. EBEFRKEBEOERAIHYFELATL:,




BEA . ER/E

REEL KERME 52—

#7581 = (St.) 1 (FEK) 2 (GEILER) 3 (AR 4 (BiEH)
#AE A H SMTE4R 228
e 10:53 10:17 10:43 10:28
IKEE (m) 25.3 22.1 18.8 56.1
ZEAE (m) 7.0 7.0 7.5 7.5
KE 6 6 6 6
JKiE (°C) == 10.2 105 10.4 10.0
5mfE 9.1 9.3 9.0 9.1
10m/B 8.5 8.8 8.5 8.7
15m/B 8.4 8.7 8.3 8.4
K 2 8.0 8.5 8.2 7.5
185 EAE] 30.14 31.52 30.40 32.30
5mfE 33.27 33.38 33.39 33.31
10m[E 33.53 33.59 33.53 33.52
15m/E 33.58 33.64 33.59 33.58
[ 2 33.64 33.66 33.61 33.67
BEFERERE (mg/) A= 10.4 10.2 10.6 10.7
5mE 12.3 11.2 12.1 11.9
10m/B 12.8 10.3 12.1 11.6
15m/B 11.6 9.9 10.8 105
[ = 10.4 9.5 10.2 8.3




i
- —— Yo =

ARERNES |

T

EE2215
AL

Oa TR (IfEEMEEAE )

X1 EREHAEERE
KStIMBLSLAICEWTEREDERRPREOMMLBE L ImOKEZH AL,



25
20
o 15

ng
X 10

KB (°

st.1(FEK) smBOIKE

=¢==H25 - RO6

/"\\ ——R07

4 5 6 7 8 9 10 11 12 1 2 3
A

st.1(FEK) _15mEBD KR

==¢==H25 - RO6

e=fil=R07
/ \f :
b

4 5 6 7 8 9 10 11 12 1 2 3
A

st.1(E/K) smEBOIES

.’,_._H_/o—o—O—\

=¢=H25 - R06

={li=R07

4 5 6 7 8 9 10 11 12 1 2 3
A

st.1(FEK) 15mEBDIESH

B — "

—4—H25-R06

={li=R07

4 5 6 7 8§ 9 10 11 12 1 2 3
A

X2 st.1(FEK)DKEBERMESTDIHEFE



25
20
o 15

mg
¥ 10

IK:E (4

25
20
o 15

mg
10

KB

st.2(FEILER) _sSmBEDKiE

35.0

st.2(GEILE) _S5mEDIE S

=¢==H25 - RO6

ﬁ —&—R07 - 34.0 Wm

33.0
\ &R
# 32.0

-

N

=¢==H25 - RO6
31.0 S
=i=R07
T T T T T T T 1 30.0 T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3

st.2(GEILER) _15mBED KR

A

A

st.2(GEBILER) _15mBDIES

==¢==H25 - RO6

5 340 .__‘--Q—‘_‘_"O—“‘_“_"—\

ﬁ e=fll=R07 0
33.0

/ \ =
# 32.0

'/7

N

25 -
310 —4—H25-R06
~8—R07
T T T T T T 1 30-0 T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3

A

K3 st.2(GZEALER) DKBERUNIESTDHF

A



25

20

o 15

i (%

%10

st.3(F/E) smENDKE

35.0

st.3(AE) smENIES

=== H25 - R06

/ : "o : e 'MM

33.0
R
?/ \\\ ﬁaz.o
=@==H25 - RO6
31.0 —
=== R07
T T T T T T T T T T T ! 30.0 T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A A
st.3(H/E)_15mRBDKE st.3(FE) _15mEDIEH
35.0
=@=H25 - RO6

33.0
=
v 32.0
31.0 =—H25-R06 _
== R07
T T T T T T T T T T T 1 300 T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A A

X4 st.3(AE)DKERVESDHFE



25
20
o 15

e
¥ 10

i (

25
20
o 15

=}
10

K& (

st.4(BXEH)_SmENDKIE

35.0

=¢==H25 - RO6

/éi == R07 = 34.0
33.0

31.0
T T T T T T . T T T 30.0
5 6 7 8 9 10 11 12 1 2 3
A
St.4(BEH) _15mEDKIE
35.0

=¢==H25 - RO6

={i=R07 B 34.0
33.0

R
32.0

st.4(BER)_SmEDIESH

./0—0—._._‘/0-—0—0/—\

=¢==H25 - R0O6

={i=R07

4 5 6 7 8§ 9 10 11 12 1 2 3
R

st.4(BEHH) _15mEDIES

._‘__.Q_‘_‘_"Q——O—H—N

=¢==H25 - R0O6

={i=R07

4 5 6 7 8 9 10 11 12 1 2 3
A

X5 st.4(BEHR) QOKERVIESDHF



IR

5m,

~ Y ==

b P p——

[
BEERAES

T

EE2215
AL

OFF I (HREMERX)

X6 smEO AOJ )L EIE

XKEFTRELEETHY., EHGEETIEHYFRE A ERDOHEIHIGELERELTIF
RSN (AZELOLTORRIEITEEEA)



10m|

IR

~ Y ==

b P p——

[
BEERAES

T

EE2215
AL

OFF I (HREMERX)

X7 10mEBOrORAJq)LEILE

XKEFTRELEETHY., EHGEETIEHYFRE A EROHEHIGELERELTIF
RSV (AZFE D TOERIETEFEA) -



15m]

IR

! = ~ Y ==

b P p——

[
4 BERERAESR

T

EE2215
AL

OFF I (HREMERX)

K8 1smEN/OQJq)LESEE

XKEFTRELEETHY., EHGEETIEHYFRE A EROHEHIGELERELTIF
RSV (AZFE D TOERIETEFEA) -




